10 ACADEMIC MATH
LESSON NOTES
Day 7 – The Method of Elimination 1

METHOD OF ELIMINATION 1
Another way of solving a linear system is to use the elimination method. In the elimination method you either add or subtract the equations to get an equation in one variable. When the coefficients of one variable are opposites you add the equations to eliminate a variable and when the coefficients of one variable are equal you subtract the equations to eliminate a variable.
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	Example
( 3y + 2x = 6  
( 5y – 2x = 10 
We can eliminate the x-variable by addition of the two equations.

3y + 2x = 6
+5y – 2x = 10
  8y + 0  = 16
         8y = 16
          y = 2
The value of y can now be substituted into either of the original equations to find the value of x.
( 3y + 2x = 6
 3(2) + 2x = 6
      6 + 2x = 6
            2x = 6 – 6 
            2x = 0
             x = 0
The solution of the linear system is (0, 2)
Check (0,2)
( 3y + 2x = 6
LS = 3(2) + 2(0) = 6 + 0 = 6            RS = 6 ✓
( 5y – 2x = 10
LS = 5(2) – 2(0) = 10 – 0 = 10        RS = 10 ✓              



	Example
( 4x + 3y = 25 
(   x – 2y = -2  
To eliminate the x-variable, they need to have the same coefficient. Multiply equation ( by 4
( 4x + 3y = 25 
( 4. (x – 2y) = (-2). 4 

4x + 3y = 25
4x – 8y = -8

Now, we can eliminate the x-variable by subtraction of the two equations.

    4x + 3y = 25
-   4x – 8y = -8

  4x – 4x + 3y + 8y = 25 + 8
                        11y = 33
                          y = 3
The value of y can now be substituted into either of the original equations to find the value of x. Let’s do equation ( this time.
(   x – 2y = -2  
        x – 2(3) = -2
             x – 6 = -2
                  x = -2 + 6
            x = 4
The solution of the linear system is (4, 3)
Check (4,3)
( 4x + 3y = 25
LS = 4(4) + 3(3) = 16 + 9 =25            RS = 25 ✓
( x – 2y = -2  
LS = 4 – 2(3) = 4 – 6 = -2                  RS = -2 ✓


Complete p.40 #1ac, 2b, 3d, 4a, 5c, 6ac
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